Week 5 Monday
February 3, 2020 7:56 AM

3.4 Malwx Ofe/d\‘o/\s

Size of a matsx (# rous) % (:ﬁd\,mm)

A= H :LS i } s 22X 3
Eﬂt\»_] of a wmalsx Rpz= (o [A—lu:"f
Sﬂum mabnx 2xt , 3x3 etec.

D'Mémo.\ malsX ¢ DE %Ob}) [ga;é)] e
‘d(/\'\\'} Ma'l'n‘)( : Iz:[é?j) IS:[éO

|
o

B[S 03]
FAd

1]
S

1

oy A+®
= [ & %l
A+B B Ur\o\efinco( i A,(S have diffeent sizes

b\ -46 “Scalor mu\ke(im‘\\‘m“

= -4 0o Iz
[—‘( -2t -36

<) A-38
A+ (~3@>

r16 " [«3 o 9
L - 4 -y - AW

(-2 6 o
s 2. -23

((

(

((




Def T
- Hn'\e, 4{2\/\5‘@056, op A béri“f/\ A )
has  rous and Glumns f\‘LCfCL\GV\f)eo( :
. A 15 S\/MMC"L(\\C, 18 AT:.A
| -

Ex ) A= b=

=

STh

3 6 'q‘\
A s ot Symmc—lwﬂ'é, (AT:,AA)

N
Ly & [;_\3\51
5 56
s Symmt*lﬂé (ﬁT: A)
Mm(ﬂ')( Mu\j«\‘f“(ﬁl\“of\

AUV




_ & o — [ 4] }
) h T Tl LMLTV
2 0[]
Cnsidh/ Yhe Sius
(2x2) (2x3) =  2x3
I I

lAside numbes must be eal,ual
(otherwise AR S Und&&‘ncd)

. Outside numbess give He sre of ABJ

Ex: A& s 2x3
& 2 x|
Sire of AR ond B 4

AR (2x3) (3x)) = 2xl
S

== - []

EA’ 15 \J/\(lf(\‘r\{ak



(2x1) (sz)

3[@@0
mﬁ £ B8R in genys! T

- 5%
T
3 19

w\nj do We W\u\‘\\()7 ke ‘H/\s ,

Conside @@
] | zx
Z x+23v S
3 +Yy = 6
Se we con SJN\A\;J /sol\;e %\/slcmf-






